2010 Textiles and Design

Question 3

Which of the following textile technologies is cost-effective, time efficient and enables
apparel designers to transfer ideas into patterns?

A v Computer-aided design

B X Computerised laser cutting

C X Computer-aided manufacture
D X Computer seamless technology

HSC Statistics on this Question:
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Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6

Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6

A 42% 59% 70% 81% 84%
B 5% 8% 7% 4% 4%
C 26% 22% 21% 15% 10%
D 26% 10% 3% 0% 0%
N 0% 0% 0% 0% 1%

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is
used to identify: No valid response.



	Question 3
	HSC Statistics on this Question:

